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And one for before its time — 1T 51D TM

OVERVIEW

*"3 maintains that y»r is MOX (not only during 109, but also) before ros and after
noo. He derives this since the 7710 writes the prohibition for eating v three times;
once for 1121 71N, once for 11171 199, and once for 131 ANRY. Our NN discusses the
severity of the y»n 70°X on 1od 27V.

mooIN asks:
- 3318 2399 ANIN NOON 1931 TNYDINYY 9N ONY

And if you will say; and according to /73?117 how do we derive the 7827 999K for

T7M even 117 "1pY -
- 3% TINY 13591 RI2DM RINDY 299N NY 10 NN N9

For since there is only one y»n 928> 891, and presumably that 70%° X5 we will
establish for 12%T 930 71 (not for 11m1 *19% yan [or 137 NRS yan)).

N1B0IN answers:
1019353 PYNI XY ANIN NOIN ¥AYN IRIP 11371 1HT 1153 PRYS 19529 0IINY
And the v''1 says; since one of these three 292105 (the P09 of 78> X91) indicates

an 7837 MR, we will not differentiate between all the three o059, and we will
assume that they all mean an %37 0°R (even 1a1 27IP and 134T NR?).

SUMMARY
We assume that all the 79°5X >10°X which are mentioned concerning nod are
similar, and since one of them (72X* X71) means X377 MOK, they all do.

THINKING IT OVER
Moo writes that X1207 the o8> 891 is for 11 70 (and not for 1171 °19%). Why does
MooIN say X1207, when the Xn*12 clearly states that yam 19y 2980 &Y is for 1"1997°

! See the X3 previously on 2,83 that 7°pin maintains that only the term (y2) %% X2 (where 7778 5”27 78mp 7"9K)
indicates 1817 Mo°X; however if the 7710 (merely) writes 2980 X2 or 1728n X7 that means only 79°3X To°X but not MoK
X377 (as opposed to 172K " who maintains that 280 X7 ,258° X7 and 158N K7 all mean 7R3;7 0K as well). w"»y.

* moon does not ask how we know the 7iX37 10K by 11 K> yan, for at this point we can perhaps assume that even
*" agrees that 137 R? ynn is 78172 . However °"1 certainly maintains that 137 199 v is 78172 MoK, for the
xn*12 clearly states 727982 MORW Avwn) (which is Mg AR 5"Y) it is X172 70K and this is P"n? RNX (who is >").

? The 77N writes only once 2X* 891 in 3,2 (X2) NWw where it states; DDRY WX 77 2PT DY 907 a¥7 9% 7w MR
YR 2282 X7) D DRNK 7Y XX T PIND 02 0VTY NUIn DTIEN.

* See w"wA.
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